
ELG2331: Chapter 7 
 
7.2) The resistance of the heating element is 
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7.5) The power dissipated by the circuit is 
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7.6) The rms current is 
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7.15 a) The apparent power supplied by the source 
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b) In order to find the power delivered to the load we should find first the current through 
the load which is same as the current Is 
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Now find the apparent power through the load 
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c) The power factor of the load may be calculated from the impedance triangle 
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This power factor is quite low! 
 
 
 
 
 
 
 



7.16 a) Find first XL and XC. Both are equal to 26.6 ohms 
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b) Since XL = XC 
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c) Since XL = XC, it means we have a resistive load, accordingly the power factor is 1! 
 
7.17) The apparent power is 
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The real power is 
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The reactive power is 
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The angle is 
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The power triangle is shown 

 

Q = - 60 VAR 
S = 75.3 VA 

P = 45.36 W 
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